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(D) =it
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(A) foremn
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Mental Ability

ST (To Fo 26 7 28) : TeF Fe 7 T TF U GUEIT-SAFT @ T & | T ST F G T
g &) 77 o & A (A), (B), (C) @97 (D) S-S F1 RET | I6 T ) AT S 157 39
RS T2 FT-SHTHA % T 7 4 ¥ e e et 8 o -3l #5792 3 aww @ e & |
a8} 3 g7 OMR FoR-97% 4 & 5 % 377 g 718 e (A), (B), (C), (D) & H< & 7t @it
T F) BTt e 97 @ 3K g |

Direction (Q. Nos. 26 to 28) : There is a problem-figure on the left-hand side, a part of
which is missing. Observe the answer-figures (A), (B), (C) and (D) on the right-hand side
and find out the answer-figure which without changing the direction, fits in the missing part of
the problem-figure in order to complete the pattem in the problem-figure. Select the correct
answer in the OMR Answer Sheet next to each question below the options (A), (B), (C), (D)
by filling up the blank space with black dot pen.

- S -

Problem-figure Answer-figure

S

N
N

26.
A) (8) © o ©
() (B) ©) )
R RN [ [

A) ®  (© )

KW -1C/24 (5) (Turn over)



29.

30.

31.

32.

33.

AT gl ? H) 9anEy

Find the missing ‘?' Number :

7,9,13,21,7?
(A) 30 (B) 32 (C) 35 (D) 37
= R form & forad st # 0

How many rectangles are there in picture given below ?

(A) 10 : B) 15 (C) 18 (D) 16

a2 ot #1s § MADRAS ! NBESBT fovan simen &, 8 BOMBAY ) aan férn s 7

In a certain code, MADRAS is a coded as NBESBT ; how BOMBAY would be coded

jn that code ?

(A) CPNCBX (B) CPOCBZ (C) CPNCBZ (D) CQOCBZ
T A S g e 2, I Fany

(A) P (B) =i (C) Ta (D) st
Find the odd-man-out from the following :

(A)  Triangle (B) Square (C) Circle (D) Rectangle

ST e 77 s Sy
Find the missing ‘?’ Number :
29, 34, 32, 37, 35, 40, ?

(A) 24

(B) 27

(C) 36

(D) 38

KW - 1C/24 (6) Contd.



34 FTCHFAPASRBECHRIADRIDFATRI TR 7
(A) =EA
(B) ¥&
(Cy =r=h
(D)  =m=n
Aand B are two sons of a farmer C. C has a danghter D. How is D related to A ?
(A) Sister
(B) Daughter
(C) Aunty
(D) Uncles -

R&vr (w0 @o 35 @37) : % 57 7 &1 31 T GHET- ST 7T 71 S IR I -Srgraa
(A), (B), (C) &ar (D) &t & | 3w7-3mF A &1 i ot wwea-3mrgta #) adw syt & fega
#gv7 B 7 ey &1 XY G 0G0 T 8 | gt I G OMR Iw-vA% § 8 W7 & 37 Re 1
@ (A), (B), (C), (D) % 73 73 Mier @reft 2 =1 #1ed 8ie 97 8 W /g |

Direction (Q. Nos. 35 to 37) : There is a problem-figure on the left-hand side and four -
answer-figures marked (A), (B), (C) and (D) are given on the right-hand side. Select the

answer- figure which is exactly the mirror image of the problem-figure when the mirror is

held at XY. Select the correct answer in the OMR Answer Sheet next to each question

below options (A), (B), (C), (D) by filling up the blank space with black dot pen.

AR SE I-ATFR
Problem-figure Answer-figure
X
7p ¥ Ao ||V | | BY
| (A) (8) (©) D)
X e
RE B[ B B
36. :
¥

(A) (B) (©) D)

KW - 1C/24 (7) ( Turn over)
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Problem-figure Answer-figure
. 8 i
37. I :
s
Ny

(A) (B) (©) (D)
38. UF BT F FEH Ch @rell Fa ¥ @S € | UTF SF H7 wW A A @ 937 W
? | 3% e O g fome e § 7

Boys of a class are standing in a long line. One boy is 9th in order from both the ends.
How many boys are there in the class ?

(A) 17

(B) 18

(C) 20

(D) 21

13T (0 ¥o 38 W 42) : Tk W H T a0 U G- @ Th E | 59 S F 0
M 21 &7l ave @ e (A), (B), (C) 71 (D) I~ ) T | 3 S ) gig it st
PR 1t G- ST % TS WP 3 5 aE i asd & 1 arar-oishia 1 0 5 aeE w7 s d |
&4l 3aT gIH OMR m—mﬁwm&aﬂv}ﬁqrfqﬁmm) (8), (C), (D) & 19 73 77 @A
T ) T 2 9 | W e |

Direction (Q. Nos. 89 to 92) : There is a problem-figure on the left-hand side, a part of
whichi is missing. Observe the answer-figures (A), (B), (C) and (D) on the right-hand side

and find out the answer-figure which without changing the direction, fits in the missing part of

the problem-figure in order to complete the pattem in the problem-figure. Select the correct
answer in the OMR Answer Sheet next to each question below the options (A), (B), (C), (D)
by filling up the blank space with black dot pen.

FET- M IR- AP

Probiem-figure Answer-figure

R s M Sy
(A) (B) (C) (D)

KW - 1C/24 (8) Contd.




40.

41.

42.

43.

44

- SR FIR-IFH

Problem-figure Answer-figure
S NS S
EAN- |
(A) (B8) (©) (D)
AN
N B R ]
(A) (B) (©) (D)
N
DA

g 379 T A o Y& ot & 3R 5 fpeiier oftem it o7 e 8, R swe e anfi
3R gea 5 Frainftet e ® | : st 3R gt 5 ez wietan 2 | 98 & F09 *
e @ freft g wg ?

Mohan starts from his house and walks 5 km west, then he turns left and walks 5 km,

_then again he turns left and walks 5 km. At what distance is he from starting place ?

(A) 6km (B) 5km  (C) 7km (D) 10 km

T AiRen H AN Y HQ gU Il wedt B, ‘TR A F A4S A F WG A | TE
wfgen siwreft % g i 7= T @ 7

(A) el @B) = ©€) =t (D) wdn

By indicating towards a lady, Anjali said, “She is the mother-in-law of my uncle’s
elder brother.” How is that lady related to her brother ?

(A) Grand-son (B) Grand-mother (C) Aunty (D) © Nephew

KW - 1C/24 (9) (Turn over)



45. fium Rreredl @ wr Wz IR SN “MANIPULATE” % i6rY &1 it e i aman o
i :

Select the word from the given choices which can'’t be framed by using the letters of
the word “MANIPULATE" :

(A) POLLUTE
(B) PLATE
(C) PINT
(D) MANTLE
46. 39! T TSIE A M1 & Gifta G @1 7, AR AR W FA § e S g, e
w1 S ?
(A) g = giva F:4
(B) 30 w5 3, I7 319 W A = @ R
(C) 3R amar 9 HQ % fr sy e
(D) 39 AR TR

Your neighbour is listening fast music and this is disturbing you in your work. What
will youdo ?

(A) Inform the Police
(B) Heis listening in his own house, so let in play
(C) Iwill request him to lower the volume

(D) Iwillbeat him

39 (To o 47 AN 48) : FE7 Wizl & N a8 il &1 HIE F1idAt % 57 F 9 4 faay g
81 39577 F F)z F1 Qe TR AN 20 7 TH F I OMR I-93% ¥ g -

Direction (Q. Nos. 47 & 48) : The capital letters in each of the following words are coded as
figures on the right side. Find out the codes for the letters and answer the questions in the
OMR Answer Sheet :

s/RONG O + + A @\
WET 9% O +

s;iRnG O+ A @)\
DENSE Do @ Q ©
BELONG @ © X A @ \

KW — 1C/24 (10) Contd.



47.

48.

“STOLEN" F HIgHi & 7

Which is the code for “STOLEN" ?
A 0 XO X® +
B O++xoc @
© +OA+x0O

o O+Axo @

“DRESSING” &1 Hlg s § 7

Which is the code for “DRESSING” ?
wO+ocQ00Ae@|
B xX+oQAe|+
c +0o0c000AC+
® O0%<00AD]

#e? 3T g9 OMR 3W-93% 7 & 9% & 37 fow mo faseq (A), (B), (C), (D) # 9 a3 mer
@A ¥ F1 FI 8ie 97 8 W A |
Select the correct answer in the OMR Answer Sheet next to each question below options
(A), (B), (C), (D) by filling up the blank space with black dot pen.
AT (To To 49 3K 50) : Ry 10 Fot F} 7F wAAR AT 1% FA-a1 e wifre w8
gl oAl 1 @gE Far 8 7 OMR IR-73% 4 3w 7 /
Direction (Q. Nos. 49 & 50) : Consider the given statements are true, then decide
which of the conclusions drawn can be logically confirm both the statements ? Asnwer in
OMR Answer Sheet.

49, FvF ; Fie T § ol vew fgard A6 &, dfm A wh v E | P Per Foa mae R

e :
() PEEETE |
m Puf?|
(A) Faa () w2
(B) e (Il) Gt 2
(C) (1)@= (1) ST v &
(D) +wEwdh e

KW - 1C/24 (11)
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Statement : In a Sports Club all the members are not players, but all of them are rich.

Mr. P is a member of the Sports Club :
Conclusions :
() P playsthesport.
(M Pisrich.
(A) Only (l) is correct
(B) Only (Il) is correct
(C) Both (1) and (ll) are correct

(D) None is correct

50. U : 3 wen # wft o Aureh € | e Aureht i R
et
) QEIAFmHTEATIRI
) FIIWATALE |
(A) T (1) w&i R
(B) () Wi R
(C) (1) (1) B = &
(D) wE A R
Statement : All the students in my class are bright. Sohan is not bright.
Conclusions :
() Sohanis not a student of my class.
() Some students are not bright.
(A) Only (1) is correct
(B) Only (ll)is correct
(C) Both (l) and (Il) are correct

(D) None is correct

KW - 1C/24 (12)
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MATHEMATICS
51, 16-16+2FAAE: ' (B) 0.01
The valueof 16— 16 + 2 is : (C) 1
(A) 8 (D) 10
(8) 05 5 )
P | :
©) 1 55. % e &9
D) 3 The percentage form of-i— is:
52. 1.25%?%@%: (A) 125%
Decimal fdml\'of‘!.zs% is: B) 125%
(A) 0.0125 (C) 1.25%
B) 1
®) : (D) 0.125%
() 3
(D) 1.25 56. 225 +/64 - 16 =
(A) 0.9 .
53 —siaﬁwﬁ%'
=0 ! B) 9
i (C) 19
The value of 017 is
(D) 1.9
(A) 0.03
2 ;
®) 03 57. (0.9)2 seR R :
) 3 (0.9)2is equalto:
(D) 30 {A) 0.81
54. 200 %1 5% F1 10% 1 8 ? (8) 0.081
What is 5% of 10% of 200 ? (C) 0.0081
(A) 0.1 (D) 8.1
KW - 1C/24 (13) (Turn over)



58.

59.

60.

61.

1.50 %o wfa St it m & 150 I
%1 T B

The cost of 150 pencils at the rate of
Rs. 1.50 per pencil will be :

(A) Rs.200
(B) Rs. 150

(C) Rs.225

(D) Rs. 250

‘a’ 1 9 10 FL AR 8a = 352 - 272 ;
Find the value of ‘@’ if 8a = 352 -
272;

(A) 60

(B) 62

(C) 63

(D) 64

7T-(-12)®u=g;

The value of 7 - (- 12)is :

(A) 5

(B) 19

(C) -5

D) 7

3R3:21::x:35AXFAAE :
if3:21::x:35then the value of xis :
A 7

(B) 5

(C) 21

(D) 35

KW - 1C/24

(14)

62.

63.

64.

182 0.00182
L1 -1—'3"' =14 W FHAR :
182 0.00182
If—1—-é- = 14 then the value of 0013
is :
(A) 0.14
B) 14
(C) 14
(D) 0.014
8927 + 286 + 3641 T R :

8927 + 286 + 3641 is equal to :
(A) 9213

(B) 11854

(C) 12854

(D) 11754

-

- W%maouot:

1 - ——
The L.C.M. of ?and 6 is:

(A)
(B)
(€)

(D)

mlc: mlm o:lu: w'...

Contd.
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65.

66.

67.

KW - 1C/24

T wiFe & 12 TE m § | e d

T U < W o F), o foerd
uTT gHA F 3R BT 9 | # R
R | AiE ¥ 9w 3@ SiFeRe F TR

‘l-'ﬂTI'E:

A chocolate has 12 equal pieces.
Mohan gave one fourth of it to Aman,
one third of it to Suman and one sixth
of it to Sohan. The no. of pieces of
chocolate left with Mohan is :

@ 1
(B) 2
() 3
(D) 4

12, 16,48 HI Ho Wo R :
HCF of 12, 16, 48 is :
(A) 4
(B) 6
(C) 16
(D) 48

3B1u3FEaEAR

The place value of 3in 3521 is :
(A) 3

(B) 300

(15)

68.

69.

70.

(C) 3000

(D) 0.3

25%0 H120% 2 :
20% of Rs. 25is :
(A) Rs.2

(B) Rs.3

(C) Rs.4

(D) Rs.5

forelt avg o1 fosha e T FE W
A ot 7o 1 ST @ a e e @
If selling price is doubled, the profit

triples, the profit percentis :
2

(A) 667

(B) 100
1
(C) 105 3

(D) 120

0.1 % fFan ufaw@ 0.012 7

0.01is what percentof 0.1 ?

1
A 700
ol

o

®) 10

(C) 10
(D) 100

(Turnover)



71.

72.

73.

Wf%ﬁlﬁx'eﬁ”lqﬁ%: '

The value of x in the figure is :

3x

(A) 300

(B) 60°

(C) 45°

(D) 90°

Foef finger f ot ) s s
B wweh R

The maximum possible number of

acute angles in a triangle may be :
(A) 0

(B) 1

€ 2

(D) 3

10 Tt w1t v AR R %
¥ I anieR Zrget | ol g d |
AR el 2rget it e 50 TR B
0 T ZrgE Y =an v & ;
Floor of square room of side 10

meters is to be completely covered

with square tiles, each having length

KW - 1C/24

(16)

74,

75.

of 50 centimeters The minimum

number of tiles needed is :
(A) 200
(B) 300
(C) 400
(D) 500

1

(Ja)émm%
1
The value of (\/{31)5 is :
(A) 1 |
(B) 2
(C) 3
(D) 4
U st § 750 freft gu o sman @ i
Ut 6 daat F wh A § dw fn

STl 8 | 450 oftet qu % ol staws
FHIEA I @M

750 mi milk is filled in one bottle and
six such bottles are packed in one
carton. The number of cartons

needed for 450 litres of milk is :
(A) 75
(8) 80
(C) 90
(D) 100

Contd.



ATHTA T (GK)
T AT oS (GS)

76. TiEH GG T TR FHE gan o1 ?

7.

(A) iy

(B) wisht

(C) T

(D) =T

Where did Gautam Buddha born ?
(A) Patiputra

(B) Sanchi

(C) Lumbini

(D) Bodhgaya
g e e e
Q& 3T 7

(A) I

(B) Wi

(C) wwie

(D) gme

Which Europian country came first

to India ?

(A) England
(B) France
(C) Holland

(D) Portugal

KW - 1C/24

(17)

78. iarsifet % TEATRR A & 7

T,

(A)  gerier

(B) ez i

(C) wwEffR

(D) =fFm =3

Who is the author of Gitanjali ?

(A) Tulsidas

(B) Ravindranath Tagore

(C) Varah Mihir

(D) Bankim Chandra

are # smEd engte fFed gE
o 7

(A) SHETETEIE NEE

(B) weTeH et

(C) i e

(D) gam =z =

Who started Non-Co-operation

Movement in India ?
(A) Jawaharlal Nehru
(B) Mahatma Gandhi
(C) Motilal Nehru

(D) Subhash Chandra Bose

( Turn over)



80. I R ) s} v o P AR @

81.

YTH & & 7

(A) s

(B) g

(C) ST

(D) T & o ff

in the night which star tells us north
direction ?

(A)
(B)
(C)

Ursha
Polestar
Uttarashadh

(D) Noneofthese

FAiElt A THG T F PH-E e
feeran & 7

A) Ful

(B) Foraem

(C) (A) 3R (B) it

(D) T & =

While chewing which jaw of a cow

moves ?
(A)
(B)
(©)
(D)

Upper
Lower
Both (A) and (B)

None of these

KW - 1C/24

(18)

83.

o7 ?

(A) e

(B) wRATH

(C) shaman

(D) FfAR

Where Lord Buddha delivered his

first sermon ?
(A) Kapilwastu
(B) Sarnath
(C) Bodhgaya

(D) Kushinagar

St ) HIAT 1 H R

(A &Rw e

(B) *fRram wehe

(C) wifeaw Fenmse

(D) forer urg

The hardness of water is due to :
(A) Calcium carbonate

(B) Calcium sulphate

(C) Sodium chloride

(D) Zinc metal

Contd.



ﬂ 85.

86.

e @ -

(A) e g
(B) faam

(C) Afim
(D) W
Ozoneis :

(A)
(B)
(®))
(D)
e 7 @ 7 W g - R 7
(A) TG

(B) e SIS

(C) dfeem

(D) AT

Which of the following is the main
poliutant gas ?

(A) H,

(8) SO,

(C) He

(D) N

Elementary gas
Mixture
Compound
Atom

2

TRTST TN AT B

(A) WHI H

(B) amaH

(C) hw

(D) it @t

Light year is the unit of :
(A) Time

KW - 1C/24

(19)

(B) Velocity
(C) Distance

(D) Energy

87. g Fweam g ?:

88.

(A) Tu

(B) T

(C) Fewl

(D) I

The planet nearest to sun is :
(A)
(B)
(©)
(D)

&1 e Ied e @l @ AN i

Mercury
Mars
Jupiter
Venus

Rwat

(A) wrEEd

(B) waferd

(C) T

(D) srewerd

Deer eats only plant products and so
it is called :

(A)
(B)
(C)

Carnivore
Omnivore
Herbivore

(D) Less Eater

(Tumover)



89.

90.

91.

e i s 2 2 e & 7
(CVRREC]

(B) W& GATGRATS Het

(C) T THATGAS A=t

(D) @«

Malaria disease is spread through
the bite of which insect ?

A
(B)
(©)
(o)
YA FATE TG § T F1 DY
(A) g R

(B) weard

(C) raftaififr Tewn &

(D) wee uean ® fse srgan 2

With increase in atmospheric

House-fly
Female anopheles mosquito
Male anobheles mosquito

Bed bug

pressure the boiling point of water
(A) Increases

(B) Decreases

(C) Remains constant

(D) Firstdecreases then increases

frer & @ et i T il
grft ¢
(A) =

KW -1C/24

(20)

B) frafa

(C) @

(D) w&&

In which of the following the speed of

sound is maximum ?
(A) Water
(B)
(C)

©)

Vacuum
Steel

Air

92. guaht oY wae W Rl Ty w7 vewE W

aan e :

(A) 11.2mls

(B) 11.2km/s

' (C) 49mis

(D) 19.6km/s

The value of escape velocity of an
object on the surface of the erath
is
(A) 11.2mis

(B) 11.2km/s
(€)

(D)

4.9m/s

19.6 km/s

Contd.
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94.

T e

(A) den

(B) e

(C) &

(D) &m&

The colour of the flame, when

maximum heat is produced

becomes :
(A) Yellow
(B) Blue
(C) Green
(D) Red

arretta awi- o R, 0
(A) aﬁ

(B) #firew

(C) Tasor

(D) Tt it

Acid rain-water is a/an :
(A) Element

(B) Compound

(C) Mixture

(D) Dirty water

KW - 1C/24

(21)

05. we ¥ wygw fhemie R urg =1 3w g

® g woha e o | wE-w R 7

(A) Cu

(B) Fe

(C) Te

(D) W

Which of the following is the symboi
of the metal used as bulb-filament ?
(A) Cu

(B) Fe

(C) Te

D) W

06, e ¥ & @r-mr v sudfurd wdi & 7

(A R
(B) iy weRe

(C) wmnfE

(D) fetram wre

Which of the following substarnce
does not sublime ?

(A) Camphor

(B) Ammonium Chioride

(C) lodine

(D) Calcium Carbonate

(Turmn over)
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88.

WIEvE F FHHH qEIH H A g 7
(A) g wi

(B) et st

(C) G T™

(D) g yue

What is the name of Present Chief
Minister of Jharkhand ?

(A) Shibu Soren
(B) Babulai Maljandi
(C) Raghubar Das
(D) Arjun Munda

THTY A¥TY & ferd gvey fRw @
i w1 goam s g 7

.(A) e 3R FHrET WA R

(B) SHledior T Mg

(C) v i FTdA Sr3ATHATES

(D) e 3R Stfadts

Which raw materials are used by the
piants for photosynthesis ?

(A) Water and Carbon Monoxide

(B) Oxygen and Nitrogen

- (C) Water and Carbon dioxide

(D) Water and Oxygen

98, “awEe Rrarem weave T ¥ Prg R

# safem R ?

(A) grem

(B) =R

(C) wream

(D) TS

Netarhat Vidyalaya is located in which
district of Jharkhand State ?

(A) Gumala
(B) Latehar
(C) Lohardaga
(D) Daltenganj

100 Fr=fafiga # @ froeh efiat graeh ait

woeh! Bt 8 7
(A) ™=

(B) g™

(C) usft

(D) woeht

Which of the following have hollow
and light bones ?

(A) Cow

(B) Man

(C) Bird

(D) Fish

KW - 1C/24

(22)

Contd.




